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2V0-620 Exam Dumps(PDF & VCE) 205Q&As from Braindump2go.com Today!100% Real Exam Questions!      100% Exam Pass

Guaranteed! NEW QUESTION 11 - NEW QUESTION 20: 1.|2016.08 New 2V0-620 Exam Dumps(PDF & VCE) 205Q&As

Download:http://www.braindump2go.com/2v0-620.html 2.|2016.08 New 2V0-620 Exam Questions & Answers:
https://drive.google.com/folderview?id=0By4UOHgxZ9SUTms2VTVfNnJsZmM&usp=sharing QUESTION 11An ESXi 6.x host

consists of 24 logical cores. Hyperthreading is enabled on the host.What is the maximum number of vCPUs that can be assigned to a

virtual machine on this host? A.    24B.    48C.    64D.    128 Answer: A QUESTION 12A High Availability (HA) cluster is

configured to respond to a given number of host failures. The cluster contains virtual machines configured with these settings:- VM1

has a 1GHz CPU reservation and no Memory reservation - VM2 has a 2GHz CPU reservation and no Memory reservation - VM3

has no CPU reservation and no Memory reservationGiven this information, what is the correct slot size for the cluster? A.    The

CPU Reservation should be set to 32MHz and the memory reservation should be set to 32MB plus memory overhead.B.    The CPU

reservation should be set to 1 GHz and the memory reservation should be set to 0MB plus memory overhead.C.    The CPU

reservation should be set to 2 GHz, and the memory reservation should be set to 0MB plus the virtual machine memory overhead.D. 

  The CPU reservation should be set to 2 GHz, and the memory reservation should be set to 32MB, plus the virtual machine memory

overhead. Answer: C QUESTION 13Which three features can be enabled for a new host cluster? (Choose three.) A.    Storage

Distributed Resource SchedulingB.    High AvailabilityC.    Fault ToleranceD.    Distributed Resource SchedulingE.    Virtual SAN

Answer: BDE QUESTION 14As part of a multisite Single Sign-On (SSO) deployment what two steps are required to ensure that a

change to one Single Sign-On instance is propagated to the other instances? (Choose two.) A.    Schedule a Replication Task on the

primary instanceB.    Select the first instance during the installation of subsequent instancesC.    During the installation of each

instance choose Linked-ModeD.    Enable Synchronize to Active Directory on each instance Answer: AC QUESTION 15An

administrator attempts to install vCenter Single Sign-On Server. The installer returns an error message indicating that the installation

failed. Prior to the installation, all setup prerequisites were met. The administrator has generated a vCenter Server Single Sign-On

support bundle.Which two files should the administrator analyze to determine the cause of the failure? (Choose two.) A.   

ServerutilslogsimsTrace.logB.    Serverutilslogsinstall.txtC.    %TEMP%utilslogsvminst.logD.    %TEMP%vminst.log Answer: AD

Explanation:http://kb.vmware.com/selfservice/microsites/search.do?language=en_US&cmd=displayKC&externalId=2033880

https://www.vmware.com/support/ws5/doc/intro_techsup_ws.html QUESTION 16Which three steps must be taken to use vSphere

Update Manager 6.x to upgrade an ESXi 5.5 host to vSphere 6.x? (Choose three.) A.    Download an ESXi Image.B.    Configure the

vSphere Update Manager Download Service.C.    Create a baseline and attach it to the ESXi Host.D.    Scan the vCenter Content

Library for the ESXi Image.E.    Remediate the ESXi Host. Answer: ACE QUESTION 17Which vSphere 6 Standard Edition feature

will allow an organization to ensure that critical multi-threaded applications have the maximum possible uptime? A.    Fault

ToleranceB.    High AvailabilityC.    Distributed Resource SchedulerD.    App HA Answer: B QUESTION 18An administrator must

determine an appropriate backup solution, given these conditions:- 50 of the virtual machines are in a resource pool named Finance.-

50 of the virtual machines are in a resource pool named QA.Which solution allows an administrator the ability to backup 100 virtual

machines? A.    Use Snapshot Manager on the vCenter Server to backup the virtual machines.B.    Use the VMware Consolidated

Backup (vcb) tool on the ESXi Host to backup the virtual machines.C.    Use the VMware Data Recovery (VDR) Appliance on the

vCenter Server to backup the virtual machines.D.    Use the VMware Data Protection (VDP) Appliance on one of the ESXi Hosts to

backup the virtual machines. Answer: D QUESTION 19During a new vSphere Distributed Switch configuration, where does the

Maximum Transmission Unit (MTU) value get modified? A.    Uplink SettingsB.    Switch SettingsC.    Portgroup SettingsD.    NIC

Teaming Settings Answer: B QUESTION 20An administrator needs to monitor traffic on vSwitches in a vSphere 6.x environment.

Which option, if configured, would accomplish this task? A.    Forged TransmitsB.    MAC Address ChangesC.    Promiscuous

ModeD.    Notify Switches Answer: C   !!!RECOMMEND!!!   1.Braindump2go|2016.08 New 2V0-620 Exam Dumps(PDF & VCE)

205Q&As Download: http://www.braindump2go.com/2v0-620.html 2.Braindump2go|2016.08 New 2V0-620 Exam Questions &
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